
TM-UI-003 Replacement of Deck and Kickboard Platpole Platform Revision No. 1  Issue Date:14/07/22  

 

Printed copies are uncontrolled  Page 1 of 4 

 

 

 

  

Replacement of Deck and 

Kickboard for Platpole 

Platform 



TM-UI-003 Replacement of Deck and Kickboard Platpole Platform Revision No. 1  Issue Date:14/07/22  

 

Printed copies are uncontrolled  Page 2 of 4 

 

GENERAL INFORMATION 

PLATPOLE DECK AND KICKBOARD REPLACEMENT PROCEDURE 

1. Place the Platpole on a bench to undertake the replacement of the deck and the kickboard. 

2. Undo the M6 nuts securing the kickboard to the platform. If the screw is turning then you will need to remove the non-

slip tread to access the Philips headed screw so you can undo the nylok nuts. 

3. Remove the kickboard. 

4. Repeat the Step 2 above for the M6 nuts holding the deck to the metal frame. 

5. Remove the deck. 

6. Place the new deck upside down with the SWL facing up and invert the Platpole and centre it on the deck ensuring it 

is central and hard up against the kick pad area. Mark the holes as the deck needs to be drilled prior to securing it to 

the platform. Drill all holes with 6.5mm drill and countersink on upper side so the countersunk screws are flush with 

the top of the board. 

7.  Once all drilled and countersunk secure the deck with the M6 Countersunk Stainless Screws, Stainless Steel 

Washer and M6 Nylok Nut. Once screws inserted apply some anti seize grease to prevent the stainless-steel bolts 

and nuts from galling. All screws must be inserted and tightened to secure the deck to the Platpole frame. 

8. Once the deck is secure apply Selleys Kwik Grip Vertical Gel Contact Adhesive to the top of the deck and also the 

underside of the non-slip tread. Ensuring that the glue goes right to the edges is critical for the bonding of the tread to 

the timber deck and the longevity of the tread adherence to the timber deck.  

9. Once the glue on both surfaces is tacky then place the tread onto the timber deck with roughly 2mm in from the left, 

right and rear edges. Gently tap over the whole surface with a soft hammer to ensure the tread adheres to the timber 

deck. Turn the platform upside so the tread is on the bench top and leave for the glue to harden. Generally overnight. 

10. Place the kick board in position and repeat the marking, drilling and countersinking of the holes. Screw the wooden 

kick board in position and repeat the gluing process for the non-slip piece to the timber kick board. 

11. Once the glue has dried and you are happy with the adhesion of the non-slip to the timber deck then check the chain, 

the welds for cracking and the pole spikes for wear / damage and if any part is damaged then they need to be 

replaced prior to use.  

12. If all the checks are correct then, return the Platpole to service. 

PRODUCT INFORMATION 

Deck Replacement Kit Contains: 

TM Number Description Material Quantity 

TM12391 Screw Countersunk Phillips M6 x 25mm Stainless Steel 15 

TM12929 Washer Flat M6 Stainless Steel 15 

TM12102 Nut Nylok M6 Stainless Steel 15 

TM01518 Rough Top Black Cut to Size Rubber Rough top 1 

TM11030 Deck Varnished & Stencilled with WLL 150kg 12mm Marine Grade Ply 1 

 

  



TM-UI-003 Replacement of Deck and Kickboard Platpole Platform Revision No. 1  Issue Date:14/07/22  

 

Printed copies are uncontrolled  Page 3 of 4 

 

Option Extras 

TM Number Description Material Quantity 

TM12462 Pole Spike Type A Steel 4140 2 

TM12463 Pole Spike Type B Steel 4140 2 

TM12464 Pole Spike Type C Steel 4140 2 

TM12183 Pin Spring 3/16" x 3/4"  Stainless Steel 2 

TM00623 Chain Galvanised 6mm x 1.7m long Galvanised Steel 1 

 

               

Figure 1 - Platpole No Deck Figure 2 - New Deck Pre-Drilling Figure 3 - Deck and Rough Top glued in Place 

 

Figure 4 - Completed Replacement of Deck, Kickboard and Roughtop   



TM-UI-003 Replacement of Deck and Kickboard Platpole Platform Revision No. 1  Issue Date:14/07/22  

 

Printed copies are uncontrolled  Page 4 of 4 

 

REPAIR 

The end user must not repair or modify any component associated with this device without written permission from TMAC. 

If repair is required contact TMAC. 

 

 

TMAC 

 

45 Enterprise St Cleveland 

QLD  4163 Australia 

Tel: (+61) 07 3826 6000  http://www.tmacgroup.com.au/ 

DEFECTS / WARRANTY 

DEFECTS 

Goods are warranted to be free from defects.  Provided they have been used strictly as recommended and subjected only to 

fair wear and tear, Goods (including parts within) which are found to be defective within 90 days after delivery to the Buyer will 

be repaired or replaced at the option of the Seller and at its expense.  Repair or replacement by the Seller is the exclusive 

remedies of the Buyer.  

WARRANTY 

 

To the maximum extent permitted by law, the Seller makes no warranties, either express or implied, as to merchantability, fitness 
for purpose or otherwise with respect to the Goods other than in paragraph above and as required by statute. The Seller is not 
liable for any prospective profits or special, indirect or consequential damages or any general loss or damage, or for any expense 
resulting from use by the Buyer or others of defective Goods.  The Seller’s liability is limited to no more than the sale price of 
the Goods plus replacement delivery charges. Prior authority for the return of goods is required by the seller.  

Please contact the seller by email sales@tmacgroup.com.au, phone 07 3826 6000 or fax 07 3826 6066 for claims related to 

defective / warranty of goods provided. 

 

FOR THE FULL TERMS AND CONDITIONS PLEASE REFER TO TMAC “STANDARD TERMS OF TRADE”  

 

 

 

http://www.tmacgroup.com.au/

